Chapter 3

Vectors

17 @ W Three vectors @, b, and € each have a magnitude of
50 m and lie in an xy plane. Their directions relative to the positive
direction of the x axis are 307, 195", and 315", respectively. What are
(a) the magnitude and (b) the angle of the vector @ + b + C.and
(c) the magnitude and (d) the angle of @ — b + ©? What are the
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(e) magnitude and (f) angle of a fourth vector 4 such that
(@+D)—(C+d)=0?

*22 (a) What is the sum of the following four vectors in unit-
vector notation? For that sum, what are (b) the magnitude, (c) the
angle in degrees, and (d) the angle in radians?

E-6.00mat +0900rad  F-5.00 m at —75.0°
G:4.00m at +1.20 rad H:6.00m at —210°

*35 Two vectors. 7 and ¥, lie in the xv plane. Their magnitudes are
4.50 and 7.30 units, respectively, and their directions are 3207 and
85.0%, respectively, as measured counterclockwise from the positive
v axis. What are the values of (a) 75 and (b) 7 x 57

*37 'Three vectors are given by @ ='_3.U'i\ —|—§.0j — 2.0k,
b=—10i —4.0j + 2.0k, and T =2.0i +2.0j + 1.0k. Find (a)
da-(b x7¢).(byd-(b+ 7).and (c)d@ X (b + 7).

43 SSM ILW The three vectors
in Fig. 3-33 have magnitudes a =3.00
m, b =400m, and ¢ = 10.0m and
angle # = 30.0°. What are (a) the x
component and (b) the y compo-
nent of @: (c¢) the x component and
(d) the y component of b; and (e)
the x component and (f) the y com-
ponent of €? If € = pa + gD, what
are the values of (g) p and (h) g7
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Fig. 2-33 Problem 43.



